#

od | ? ad, = od | % od, ‘ —_—
(mm) | (mm) (mm) (mm) ) N) (mm) | (mm) (mm) (mm) (N) (N)
3,0 4,0 =15 =175 810 620 4,0 | 20,0 15,0-17,0 | =2,10] 1600 1200
3,0 6,0 1,5-3,5 =175 810 620 40 | 250 17,0200 [ =2,10] 1600 1200
3,0 8,0 3,5-5,5 =175 810 620 48 | 10,0 4,5-6,5 =270 [ 2230 1690
30 [ 100 5,5-7,0 =175 810 620 48 | 12,0 6,5-8,5 =270 [ 2230 1690
30 [ 120 7,0-9,0 =175 810 620 48 | 14,0 8,5-10,5 [=2,70] 2230 1690
32 6,0 1,5-3,5 =1,95[ 980 760 48 | 16,0 10,5-12,5 | =2,70| 2230 1690
32 8,0 3,5-5,5 =1,95[ 980 760 5,0 8,0 2,5-4,5 =2,70 [ 2500 2000
4,0 6,0 1,0-3,0 =210 [ 1600 1200 50 [ 10,0 4,5-6,5 =270 [ 2500 2000
4,0 8,0 3,0-5,0 =2,10 [ 1600 1200 50 [ 12,0 6,5-8,5 =2,70 [ 2500 2000
4,0 | 100 5,0-7,0 =210 [ 1600 1200 50 [ 14,0 85-10,5 [=270] 2500 2000
40 | 12,0 7,0-9,0 =2,10 [ 1600 1200 50 [ 16,0 10,5-12,5 | =2,70| 2500 2000
40 | 16,0 11,5-125 [ =2,10] 1600 1200




